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Time: 10 Minutes Paper Math 5 (T-1) Total Marks: 10

1st Month, 2nd Week, 1st Day| Unit # 1, Addition and Subtraction ‘2 )’:5107'

Q.No.1. Choose the correct option. 05x6=3) - /';&?'! K¥ T
i) The sum of 281 309 and 171 851 is: Z‘LJ}‘{K171 85151281 309

(a)| 453160 |(b)| 451260 |(c)| 353160 |(d)| 352260

ii) What is the sum of 139 856 and 621 4162 S /ss7 § 621 416.5/139 856

(@] 661672 || 672772 |@©]| 761272 |@]| 771572

iiii) 366 922 + 531 209 = ?
(@) 698321 |m)| 798131 || 797631 |(@)]| 898131

iv) The sum of 567 098 and 381 940 is: :‘Li}f §'381 94051567 098

(@) 949035 |()| 949036 |()| 949038 |(@)| 849038

v) By adding 731 927 and 252 921 we get:
et foe & ST 252 92141731 927

(a)| 847498 |[(b)| 894848 |(c)| 884848 |(d)| 984848

vi) The sum of 421 533 and 101 897 is equal to:
‘e 4204 €101 89711421 533
(@)| 521330 |(M)| 523430 || 527430 [@)| 523330

Q.No.2. Solve the following. 2x2=4) gL st

i) 319989 + 428 888

ii) 591727 + 702 929

Q.No.3. Add the following. (1.5x2=3) S st
i) 100700, 291 562

ii) 293109, 625 834
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